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Quantum Mechanics
Symbolism of Atomic Measurements
by J. Schwinger, edited by B.-G. Englert
(1st printing, Springer-Verlag 2001)

List of typographical errors (updated April 2021)

. On p. 1, in the last line of the 1st paragraph read “physicist” rather than

“physicists”.
On p. 29, in the footnote, Schrodinger’s year of birth is 1887, not 1889.

On p. 30, before (1.1.2), replace “component of force” by “component of
the force”.

On p. 64, in (1.12.29) replace ¢l by eFl¥ and e™1% by eFl¥,
On p. 85, in (1.16.19) replace eld'p by eld'p,
On p. 90, Problem 1-19 should end with a question mark.

On p. 95, in Problem 1-36¢ read “in such a way that U is” rather than
“in such a way the U is”.

On p. 111, in (2.3.7) replace ¢ (@) (" = (P)) 1y o=1{a) (" = (P)),

9. On p. 120, in (2.5.16) replace the left-hand side by
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d2 1 /2
0= <d/2 —¢” 4+ 2n+ 1) e=29 H,(¢).
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On p. 122, in (2.5.37) replace Z by Z

I£q £k
On p. 124, in (2.6.12) read (y!)*¥y* rather than (y")"y™.
On p. 129, first line in (2.7.33), replace <yT|y”> by <yT/|y”>.
On p. 129, last line in (2.7.33), replace (y'|'y”) by (y'|y").
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On p. 140, in Problem 2-14, replace |i[4, B]| by 5‘ <1[A,B}> ‘
On p. 141, in Problem 2-17a, replace (3 (gp+pq) by (3(gP+Pq) in the
last displayed equation.
On p. 142, in Problem 2-19a replace H(q) by H,,(q).
On p. 155, in (3.4.2) replace j = 1(ny+n_) =nbyj = L (ny+n_) = in.
On p. 155, in the second line of (3.4.3) replace |ny —1,ny +1) by
|TL+ — 1,n_ + 1>

On p. 159, in the unnumbered equation read

Jym — 1> rather than |j,m>.
On p. 165, between (3.6.10) and (3.6.11) replace (a| by (d/|.
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On p. 171, in (3.7.22), replace Uﬁlﬂl = sin? 0 by Uill))l = sin? 3
On p. 178, in Problem 3-8a, the displayed equation should read 3—201 -0
rather than 3 — o1 - 9.

On p. 179, in Problem 3-9, 2nd line, read “sometimes called” rather than
“sometimes call”.

ty
On p. 209, in (5.5.14) read / rather than /
t2 tl

On p. 230, in (6.3.9) read p, = vV Mhw p rather than p, = vVmhwp.
On p. 240, in (6.7.8) replace %03 by %73 in the exponent.
On p. 269, in the 2nd line after (7.1.2) read 0, w, 2w rather than w, 2w, 3w.
On p. 289, in (7.4.14) read (1 +ida)ys rather than (1 +idayy).
On p. 296, in the first line of (7.5.8) read L? — —(gq x V)- (g x V) rather
than L? — —(q x V) x (g x V).
On p. 298, in (7.5.26) replace L(H%)(p) by L(H_%)(pz)

b b np np .
On p. 347, before (9.2.6) read i'P;(¢) rather than i'P(().
On p. 380, in the second and the third line of (10.1.41),
replace olp(a’) +ip(a”)N by olp(a" )N +ip(a”)N

On p. 393, in (10.6.10) replace ¥ (y't) by ¢ (a’,t); 2 occurrences.
1
—— by —.
ar2e? Y Yre
On p. 415, replace the text below the plot by “shows that f = 0 occurs
at finite x, where —f’ £ 0, if —f’(0) > B; and f’ = 0 occurs at finite ,
where f # 0, if —f/(0) < B.”
On p. 417, in the second line of (11.2.46), replace — f(0) by —f’(0).
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On p. 414, in (11.2.35) replace

1 1
On p. 417, in the Ist line of (11.2.50) read ) - V= rather than )Vf.
r T

On p. 419, in the 2nd line after (11.2.61) read @ =  rather than a = I.
3 B 7 62 3 B 7 62
On p. 419, in (11.2.62), 1 = 35— by — 3—.
np in ( ) repace7a/ao dao y?a/ao 3(10
On p. 421, in the 4th line after (11.3.6) read —€ > Z3e2 /ag rather than
E> Z3e? /ay.
On p. 462, in (12.9.3), replace <E0|5H1|E0> by <E0|5H2|E0>.

On p. 463, in (12.9.12) replace (E,...| by (Ey|.




